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General Knowledge / açWýç»S pûçX / açWýçÌ[ýX pûçX
1. The Brahmaputra is also Known as :

[ýÐ¡ùYÇy» %Xî Xç] ×Eõ ?
[ýÐ¡ùYÇäyÌ[ý %YÌ[ý Xç] ×Eõ ?
a) Dibang b) Tsangpo c) Lohit d) Dikhoi

×V[ýe $JôçeãYç å_ç×c÷Tö ×VãFì
×V[ýe açeãYç å_ç×c÷Tö ×VãFì

2. The night and day are of equal duration all over the Earth on :
åEõ×TöÌ^ç YÊ×U[ýÝ» aEõã_ç Pöçc÷OãTö ×VX-»ç×Tö a]çX c÷Ì^ :
YÊ×U[ýÝÌ[ý a[ýïy ×VX-Ì[ýç×Åy a]çX c÷Ì̂  :
a) 21 March b) 31 June c) 20 August d) 20 November

21 ]ç$JôÛTö 31 LÇXTö 20 %çGrôTö 20 Xã[ýý=‘ö»Tö
21 ]çäJôÛ 31 LÇãX 20 %çGärô 20 Xã\ö=‘öãÌ[ý

3. Kolkata is situated on the bank of the river :
Eõ’_EõçTöç åEõçX XVÝ» Yç»Tö ?
Eõ_EõçTöç åEõçX XVÝÌ[ý TöÝãÌ[ý %[ý×ØšöTö ?
a) Ganga b) Hoogly c) Padma d) None of these

G†ç §G_Ý Y²¿ç A$RôOçC Xc÷Ì̂
G†ç §G_Ý Y²¿ç AEõ×OôC Xç

4. The Province which is a part of the U.A.E. is
Tö_» åEõçXä$RôOç (ae Ç̂Nþ %ç]Ý» Ÿ̀çc÷Ý) c÷OQöOXçc÷Oä$RôOQö %ç»[ý %ç×]»ç$RôO (U.A.E.)» %eG ?
XÝäJôÌ[ý åEõçX×Oô ae Ç̂Nþ %çÌ[ý[ý %ç×]Ì[ý ̀ Ÿçc÷ÝÌ[ý %eGÌ[ýçLî ?
a) Kuwait b) Sharjah c) Iran d) Iraq

EÇõã¾c÷O$RôO Ÿ̀ç»Lçc÷ c÷O»çS c÷O»çEõ
EÇõãÌ̂ Tö `çÌ[ýLç +Ì[ýçS +Ì[ýçEõ

5. The opening ceremony of DLF IPL III was held in
DLF IPL III EõTö QöOã¥çWýX Eõ»ç éc÷×$K÷_ ?
DLF IPL III AÌ[ý =å¥çWýXÝ %XÇœöçX åEõçUçÌ̂  c÷Ì̂  :
a) Kolkata b) Mumbai c) Chennai d) Delhi

Eõ_EõçTöç ]Ç=‘öçc÷O æ$Jô~çc÷O ×V{Ý
Eõ_EõçTöç ]Ç=‘öçc÷O æ$Jô~çc÷O ×V{Ý

AJMAL NATIONAL TALENT SEARCH (ANTS) EXAMINATION - 2010
Class : VI

Time/a]Ì^ : 2 hours/ H³RôOç Full Marks/ ]ÇPö X=‘ö» / å]çOô X¶‘öÌ[ý f (25+25+25+25)=100
INSTRUCTIONS / ×XãVÛ`ç¾_Ý / ×XãVÛ`ç[ý_Ý
1. Attempt All Questions / YÒãTöîEõä$RôOç YÒ Ầ» QöOwø» Eõ»ç / YÒãTöîEõ×Oô YÒä ẦÌ[ý =wøÌ[ý VçC
2. There are four options to every question. Choose the correct option by putting any one of a, b, c or d, in the box

YÒ×Töä$RôOç YÒ`Â» $Jôç×»$RôOç ×[ýEõ” QöOwø» ×VÌ^ç %çä$K÷* £ˆù QöOwø»ä$RôOç [ýç×$K÷ QöO×_Ì^çc÷O EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*
YÒ×Tö×Oô YÒä ẦÌ[ý JôçÌ[ý×Oô ×[ýEõ” =wøÌ[ý åVCÌ̂ ç %çäK÷* a×PöEõ =wøÌ[ý×Oô å[ýäK÷ Yçã »̀ UçEõç [ýçåj a, b, c A[ýe d ×_F*
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6. ‘JAGO GRAHOK JAGO’ is for
‘‘LçG’ GÐçc÷Eõ LçG’’ À̀GçX Eõç» QöOã©`î ×VÌ̂ ç c÷Ì̂  ?
‘LçãGç GÐçc÷Eõ LçãGç’ æ À̀çGçX×Oô EõçÌ[ý LXî ?
a) Buyer b) Seller c) Donor d) None of these

åyÔTöç ×[ýãyÔTöç VñçTöç A$RôOçC Xc÷Ì̂
åyÔTöç ×[ýãyÔTöç VçTöç AEõ×OôC Xç

7. The Finance Minister of Assam is :
%a]» ×[ýwø]Ü—öÝ åEõçX ?
%çaçã]Ì[ý %Uï]Ü—öÝ c÷ã_X
a) Rockybul Hussain b) Himanta Biswa Sharama     c)   Tarun Gogoi d) Nurjamal Sarkar

»×Eõ[ýÇ_ §ä$K÷c÷OX ×c÷]Ü™ö×[ý Ÿ̀ ̀ ]ïç      Tö»ÓX GêG XÇ»Lç]ç_ $Jô»Eõç»
Ì[ý×Eõ[ýÇ_ §ãa+X ×c÷]Ü™ö×[ý Ÿ̀ ̀ ]ïç       Tö»Ì[ýÓX GêG XÇÌ[ýLç]ç_ aÌ[ýEõçÌ[ý

8. Niagara falls is in :
XçãÌ^GÐç L_YÒYçTö EõTö ?
XçãÌ̂ GÐç L_YÒYçTö åEõUçÌ̂  ?
a) Canada b) England c) U.S.A. d) France

EõçXçQöçTö c÷Oeã_‰øTö %çã]×»EõçTö ZÐõç³aTö
EõçXçQöçãTö +eã_ã‰ø %çã]×Ì[ýEõçãTö ZÐõçã³a

9. The maximum number of Grand Slam in Tennis is won by
æ$RôO×X$JôTö a[ýïç×WýEõ aeFîEõ GÐç‰ø `Àç] åEõçãX ×L×Eõ×$K÷_ ?
åOô×Xãa a[ýïç×WýEõ aeFîEõ GÐîç‰ø À̀çã]Ì[ý ×[ýLåÌ̂ Töç
a) Pete Sampras b) Roger Federer c) Boris Becker d) Rafeel Nadal

×Y$RôO $K÷ç+Òç$K÷ å»Lç» åZõãQö»ç» [ý×»$Jôã[ýEõç» »çãZõ_ XçQöç_
×YOô aç¶YÒça Ì[ýLçÌ[ý åZõãQöÌ[ýçÌ[ý [ý×Ì[ýa å[ýEõçÌ[ý Ì[ýçåZõ_ XçQöç_

10. Adam Gilchrist a crickter hails from
×yÔãEõ$RôOç» %çQöç] ×G_FÐÝrô åEõçX åV`» éF_Çã¾ ?
×yÔãEõOôçÌ[ý %çQöç] ×G_FÐÝrô åEõçX åVã Ì̀[ý åFã_çÌ̂ çQÍö ?
a) England b) Newzealand c) Australia d) South Africa

c÷Oeã_‰ø ×XQöO×Lã_‰ø %ärÑô×_Ì̂ ç V×lùS %ç×ZÐõEõç
c÷Oeã_‰ø ×XQöO×Lã_‰ø %ärÑô×_Ì̂ ç V×lùS %ç×ZÐõEõç

11. The organ of the human body that is affected by hepatitis is :
åc÷Yç$RôOçc÷O×$RôOä$Jô åVc÷» Eõ’Tö %çyÔ]S Eõã» ?
åc÷YçOôç+×Oôa ̀ Ì[ýÝãÌ[ýÌ[ý åEõçX %e`ãEõ %çyÔ]X EõãÌ[ý ?
a) Pancreas b) Spleen c) Stomach d) Liver

%GÂîç`Ì^ YÀÝc÷ç YçEõØšö_Ý ×_\öç»
%GÂîç Ì̂̀ YÀÝc÷ç YçEõØšö_Ý ×_\öçÌ[ý
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12. ‘Too many cooks spoil the :
%×WýEõ »çμùXÝãÌ^ ................. Xrô Eõã»
%×WýEõ a~îçaÝãTö .................. Xrô
a) Dish b) Broth c) Food d) Curry

açWýX GçLX å\öçLX Ø‘öLX

13. 2nd October is observed as :
2 %ãkôç[ý» ×Eõ ×c÷$JôçãY Yç_X Eõ»ç c÷Ì^ ?
2 %ãkôç[ýÌ[ý ×Eõ ×c÷açã[ý Yç_X EõÌ[ýç c÷Ì̂  ?
a) Gandhi Jayanti b) International Day of Non-violence

GçμùÝ LÌ̂ Ü™öÝ %çÜ™öLÛç×TöEõ %×c÷eaç ×V¾a
GçμùÝ LÌ̂ Ü™öÝ %çÜ™öLÛç×TöEõ %×c÷eaç ×V[ýa

c) Both a & b d) None of them
a %ç»Ó b QöO\öãÌ̂ A$RôOçC Xc÷Ì̂
a %çÌ[ý b =\öãÌ̂ AEõ×OôC Xç

14. Nobel Prize is not awarded in which of the following area :
Tö_» åEõçXä$RôOç ×[ý\öçGTö åXçã[ý_ [ýg$RôOç ×VÌ^ç Xc÷Ì^ ?
XÝäJôÌ[ý åEõçX ×[ý\öçãG åXçã[ý_ YÇÌ[ý•õçÌ[ý åVCÌ̂ ç c÷Ì̂  Xç ?
a) Literature b) Physics c) Chemistry d) Music

aç×c÷Töî YVçUï ×[ýpûçX »açÌ̂ S ×[ýpûçX aeGÝTö
aç×c÷Töî YVçUï ×[ýpûçX Ì[ýaçÌ̂ X ×[ýpûçX aeGÝTö

15. Google (www.google.com) is a :
Google ×Eõ ?

a) Number in maths b) Search Engine c) Directory of Images   d) Chat service on the web
Gç×STöÝEõ aeFîç %XÇaμùçX c÷O×tX     YÒ×Tö]É×TöÛ» YÇØ™öEõ Cã¾[ý$K÷çc÷O$RôOTö [ýçTöÛç_çY
Gç×STöÝEõ aeFîç %XÇaμùçX c÷O×tX     YÒ×Tö]É×TöÛÌ[ý YÇØ™öEõ CãÌ̂ [ýaç+åOô [ýçTöÛç_çY

16. In colour blindness with which colour is red confused :
[ýSï %μùTöçTö »Iøç »Iø» _GTö åEõçX »Iø» ×[ý}ç×Ü™ö c÷Ì^ ?
[ýSï %μùTöçÌ̂  _ç_ Ì[ýåIøÌ[ý açãU åEõçX Ì[ýåIøÌ[ý ×[ý}ç×Ü™ö c÷Ì̂  ?

a) White b) Green c) Yellow d) Blue
[ýGç åaQöOLÝÌ̂ ç c÷ç_WýÝÌ̂ ç XÝ_ç
açVç a[ýÇL c÷_ÇV XÝ_

17. The metal that is the main constituent of both bronze and brass :
[ýÐt %ç»Ó ×YTö_Tö UEõç WýçTÇö» ]ÉFî  QöOYçVçXä$RôOç c÷_ :
[ýÐt A[ýe ×YTöã_ UçEõç WýçTÇöÌ[ý ]É_ =YçVçX c÷_ :
a) Copper b) Iron c) Zinc d) Aluminium

Töç] / Töç]ç å_ç / å_çc÷ç ×LeEõ A_Ç×]×XÌ̂ ç]
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18. The wood of the tree that is used especially for making cricket bats :
×yÔãEõ$RôO» å[ý$RôO éTöÌ^ç» Eõ×»[ýê_ ×[ýã`bêEõ ×Eõ G$K÷» EõçPö [ýî¾c÷ç» Eõ»ç c÷Ì^ ?
×yÔãEõOô [ýîçãOô å^ EõçPö [ýî[ýc÷çÌ[ý EõÌ[ýç c÷Ì̂
a) Birch b) Sycamore c) Willow d) Hazel

\ÇöLÛ $Jôçc÷OEõç]Ç» QöOc÷Oã_ç åc÷c÷Ô _
[ýçJôÛ [ýÊlù aç+Eõçã]çÌ[ý =+ã_ç åc÷+^_

19. ‘Desh Ki Dhadkan’ is the punchline of
‘åV` EõÝ WýQÍöEõX’ æ`ÀçGçX ×Eõc÷» _GTö L×QÍöTö ?
‘åV` EõÝ WýQÍöEõX’ æ À̀çGçX ×EõãaÌ[ý açãU L×QÍöTö ?
a) Hero Honda b) TVS c) Bajaj d) Yamaha

×c÷ã»ç åc÷ç‰øç ×$RôO.×\ö.A$K÷. [ýçLçL Ì̂ ç]çc÷ç
×c÷ãÌ[ýç åc÷ç‰øç ×Oô.×\ö. Aa. [ýçLçL +Ì̂ ç]çc÷ç

20. The brand Started by Mahesh Gupta and endorsed by Hema Malini is
]ãc÷` mŠç» QöOdYç×VTö åEõçX×[ýWý aç]GÐÝ» ×[ýpûçYXTö åc÷]ç ]ç×_XÝãÌ^ %×\öXÌ^ Eõ×»ä$$K÷ ?
]ãc÷` mŠçÌ[ý åEõçX aç]GÐÝÌ[ý ×[ýpûçYãX åc÷]ç ]ç×_XÝãEõ åVFç ^çÌ̂
a) Aquaguard b) Kent c) Bajaj d) Khaitan

AEÇõ¾ç GçQïö åEõ³RôO [ýçLçL éFTöçX
AãEõçÌ̂ ç GçQïö åEõ³Oô [ýçLçL éFTöçX

21. What statutory warning is given in the cigarate packets ?
×$K÷Gçã»$RôO» åYãEõ$RôOTö ×[ý×WýaX½Tö ×Eõ aTöEõÝÛEõ»S Eõ»ç c÷Ì^ ?
×aGçãÌ[ýãOôÌ[ý åYãEõãOô ×[ý×WýaX½Tö aTöEõÝÛEõ»Ì[ýS ×c÷açã[ý ×Eõ å_Fç UçãEõ ?
a) cigarate smoking is injurious to health b) Tobacco causes cancer

WýÇ]YçX Ø‘öçØšöî» [ýçã[ý lù×TöEõç»Eõ WýYçãTö åEõ‡ûç»» aÊ×rô Eõã»
WýÉ]YçX Ø‘öçãØšöîÌ[ý Yãlù lù×TöEõÌ[ý Töç]çEõ Eõîç³açåÌ[ýÌ[ý aÊ×rô EõãÌ[ý

c) smoking is prohibited d) smoking causes AIDS
WýÇ]YçX ×X×bˆù WýÇ]YçãX AIDS » aÊ×rô Eõã»
WýÉ]YçX ×X×bˆù WýÉ]YçãX AIDS AÌ[ý aÊ×rô EõãÌ[ý

22. The river flows through the city of London :
_‰øX» ]çãLã» é[ý å^ç¾ç XVÝ
_³QöX ̀ c÷ãÌ[ýÌ[ý ]Wýî ×VãÌ̂  YÒ[ýç×c÷Tö XVÝ
a) Thames b) Severn c) Trent d) Ouse

åU]$K÷ æ$K÷\öçXï æ®Ïô³RôO CB$K÷
åOô]a åa\öçXï æ®Ïô³O Da

23. The ruler who constructed the Grand Trunk Road :
GÐç‰ø ®Ïôçáø å»çQö åEõçãX aç×L×$K÷_ ?
GÐîç³Qö ®Ïôçáø åÌ[ýçãQöÌ[ý ×X]ïçTöç åEõ ?
a) Akbar b) Shivaji c) Rana Pratap d) Sher Shah Suri

%çEõ[ý» ×`¾ýçLÝ »çSç YÒTöçY å Ÿ̀» Ÿ̀çc÷ $JÇô»Ý
%çEõ[ýÌ[ý ×`[ýçLÝ Ì[ýçSç YÒTöçY å Ì̀[ý ̀ çc÷ aÇÌ[ýÝ
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24. Official residence of the Prime Minister of India is at :
\öç»Tö» YÒWýçX]Ü—öÝ» $Jô»Eõç»Ý %ç[ýça Eõ’Tö ?
\öçÌ[ýãTöÌ[ý YÒWýçX]Ü—öÝÌ[ý aÌ[ýEõçÌ[ýÝ %ç[ýça åEõçUçÌ̂  ?
a) Feroze Shah Road b) 7 Race Coures Road c) Mahatma Gandhi Road d) Parliament Road

×Zõã»çL `Ÿçc÷ å»çQö 7 å»$Jô åEõç$JôÛ å»çQïö ]c÷ç±Áç GçμùÝ å»çQö Yç×_ïÌ^çã]³RôO å»çQö
×ZõãÌ[ýçL ̀ Ÿçc÷ åÌ[ýçQö 7 åÌ[ýa åEõçaôÛ åÌ[ýçQö ]c÷ç±Áç GçμùÝ åÌ[ýçQö Yç×_ïÌ̂ çã]³Oô åÌ[ýçQö

25. Kalyan, Emon, Bhairavi and Maalhar are type of
Eõ_îçX-c÷O]S-é\ö»[ýÝ %ç»Ó ]ç_c÷ç» ×Eõc÷» YÒEõç»
Eõ_îçX, +]X, é\öÌ[ý[ýÝ, ]{çÌ[ý ×EõãaÌ[ý YÒEõçÌ[ý
a) Mangoe b) Raaga c) Season d) Dance

%ç] »çG @TÇö Xç$Jô
%ç] `çØ—öÝÌ̂  Ì[ýçG @TÇö XÊTöî

General English

26.  I want you to tell me the ....... truth

a) all b) exact c) real d) whole

27. Do you want ....... sugar in your coffee ?

a) some b) much c) any d) little

28. I ....... go now because I am already late for my class.

a) must b) had to c) am d) should

29. She always said that when she grew up she wanted to be ........

a) doctor b) a doctor c) the doctor d) surgeon

30. Next time you ....... to my house, you must bring that book.

a) come b) will come c) are coming d) may come

31. Lucy  talked over the phone  for five minutes and finally  ........

a) hanged up b) hang over c) hung up d) hung over
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32. This summer we went ....... holiday  to Greece.
a) in b) on c) for d) by

33. Which of these is an adjective? It is ........
a) hard b) hardly c) harden d) hardship

34. If you have a question please feel ....... to ask.
a) good  b) well c) free d) nice

35. ....... is a person who has  taken  an apartment or house on rent.
a) Landlord b) Tenant c) Houseguest d) Host

Find the appropriate response from Mira  in the following three questions :

36. Anil : They went on strike last week.
Mira : ................
a) What on earth for ? c) Do they live on earth ?  b) Are they on earth ? d) Why on earth to ?

37. Anil : You know he failed all his examinations?
Mira : .......
a) I must believe it. c) I might believe it. b) I don’t believe it. d) I ought to believe it.

38. Anil : ’Thank you very much for helping me.’
Mira : ‘.......’
a) You don’t mention it. c) You mention it. b) No mention of it. d) Don’t mention it.

39. Directions: Which is the best way to write the underlined portion of each sentence?
I  have rang  her doorbell several times today.

a) have rang b) have rung c) am ringing d) rung

40. Directions: In the following  choose the correct option to balance and complete the sentence.
Henry is not only a good doctor………..

a) but also an excellent friend. b) but he is also an excellent friend.
c) but he is an excellent friend also. d) but is also an excellent friend.

Pick out the  word that is most similar in meaning ( Synonym)  to the word given in  bold  capitals :

41. Deforestation destroys the HABITAT  of  many species of animals and birds.
a) Locality b) Habits c) Area d) Home

42. The ABRUPT stopping of the car  annoyed us.
a) Sudden b) Violent c) Irritating d) Noisy
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Pick out the  word  that is most opposite in meaning ( antonym)  to the word given in  bold capitals :

43. The canal was CONSTRUCTED during the first Five Year Plan.
a) Made b) Erected c) Constructed d) Destroyed

44. The teacher always spoke to her students in a SHARP tone.
a) Sweet b) Fine c) Soft d) Blunt

Choose a  single word from the options to replace the words  in   underlined  italics :

45 Sanjay has a fascination for animals living in water.
a) Watery b) Aquatic c) Amphibian d) Anthropoid

46. A   person who is a hundred years old  must be a very experienced man.
a) Centenarian b) Centurion c) Centenary d) Grand old man

Mark the right choice on the basis of the relationship shown in the first part of the question :

47. SPORTS is to STADIUM as ................. is to STAGE :
a) Novel b) Play c) Poetry d) Song

48 CLOTH is to TAILOR as LEATHER is to ……….
a) Designer b) Carpenter c) Cobbler d) Furniture

Mark the choice which gives the correct spelling :

49. a) dialogue b) dilogue c) diloug d) Dailougue

50. a) admission b) admision c) addmition d) addmission

General Mathematics / açWýç»S G×STö / açWýçÌ[ýX G×STö

51. The missing number in 1+2
3

 + 4+5
6

 = 7 + 8
9 - ?

 is ................
1+2

3
 + 4+5

6
 = 7 + 8

9 - ?
  » _ÇŠ aeFîçä$RôOç c÷_ :

1+2
3

 + 4+5
6

 = 7 + 8
9 - ?

  AÌ[ý _ÇŠ aeFîç×$$RôO c÷_ :

a) 0 b) 3 c) 6 d) 12

52. Find the odd number out :
%×]_ä$RôOç [ýç×$Jô QöO×_C¾ç :
%×]_ aeFîç×Oô [ýç×c÷Ì[ý EõÌ[ý :
3, 5, 7, 12, 13, 17, 19
a) 19 b) 17  c) 13 d) 12
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53. In the given diagram the value of N is equal to :
EõçbTö ×VÌ^ç ×$Jôyä$RôOçTö N  » ]çX :
Yçã Ì̀[ý ×Jôy×OôåTö N AÌ[ý ]çX :

a) 900 b) 1000 c) 1100 d) 1300

54. What must be added to x2 to get 1
x2 » _GTö ×Eõ å^çG Eõ×»ã_ 1 c÷[ý ?
x2 AÌ[ý açãU ×Eõ å^çG EõÌ[ýå_ 1 c÷Ì̂  ?
a) 1 + x2 b) -1 -x2 c) 1 - x2 d) x2 - 1

55. The cost price of 24 pens is same as the selling price of 20 pens. The gain percent is :
24 $RôOç Eõ_]» ×EõXçVç] 20 $RôOç Eõ_]» å[ý$K÷çVç]» a]çX c÷ã_ `TöEõ»ç %çÌ̂  c÷[ý :
24 Oôç Eõ_ã]Ì[ý yÔÌ̂ VÌ[ý 20 Oôç Eõ_ã]Ì[ý ×[ýyÔÌ̂  VãÌ[ýÌ[ý a]çX c÷ã_ `TöEõÌ[ýç _ç\ö c÷_ :
a) 15% b) 18% c) 20% d) 22%

56. (20 ÷ 5) ÷ 2 + (16 ÷ 8)  x 2 +(10 ÷ 5) x (3 + 2) = ..............
a) 12 b) 15 c) 18 d) 16

57. Radius of the given circle is 14 cm and angle between OM an ON is 450. What is the area of
the shaded portion ?
YÒVwø [ýÊwø» [ýîçaçWýï 14 æ$K÷.×]. %ç»Ó OM %ç»Ó ON » ]çL» åEõçX 450 c÷ã_ $Kg÷çã» %ç[ýÊTö %e`» Eõç×_ ×Eõ]çX c÷[ý ?
YÒVwø [ýÊãwøÌ[ý [ýîçaçWýï 14 åa.×]. A[ýe OM C ON AÌ[ý ]ãWýî 450 åEõçS c÷ã_ K÷çÌ̂ ç[ýÊTö %eã Ì̀[ý Eõç×_ EõTö ?
a) 91 cm.2 (æ$K÷.×] 2) b) 77 cm.2 (æ$K÷.×] 2) c) 72 cm.2 (æ$K÷.×] 2) d) 112 cm.2 (æ$K÷.×] 2)

91 æ$K÷.×] 2 77 æ$K÷.×] 2 72 æ$K÷.×] 2 112 æ$K÷.×] 2

91 æ$a÷.×] 2 77 æa÷.×] 2 72 æ$a÷.×] 2 112 æa÷.×] 2

58. Descending order of 1.01, 1.323, 1.414, 1.21 is ...............
1.01, 1.323, 1.414, 1.21 » %WýfyÔ] .............................
1.01, 1.323, 1.414, 1.21 AÌ[ý %WýfyÔ] .............................
a) 1.21, 1.323, 1.414, 1.01 b) 1.323, 1.414, 1.21, 1.01
c) 1.01, 1.21, 1.323, 1.414 d) 1.414, 1.323, 1.21, 1.01

59. One cm. is equal to 10mm. How many square mm are there is one square cm. ?
AEõ æ$K÷.×]. a]çX 10 ×]. ×]. c÷ã_ AEõ [ýGï æ$K÷. ×].Tö ×Eõ]çX [ýGï ×]. c÷[ý :
AEõ åa. ×]. a]çX 10 ×]. ×]. c÷ã_ AEõ [ýGï åa.×].åTö EõTö ×].×] c÷ã[ý :
a) 10 b) 1000 c) 100 d) 5

60. Which of the following fractions represents a whole number ?
Tö_» åEõçXä$RôOç \öGÂçe`c÷O A$RôOç YÉSï aeFîçEõ [ýÇLçÌ^ ?
XÝäJôÌ[ý åEõçX \öGÂçe` AEõOôç YÉXï aeFîç [ýÇMõçÌ̂  ?

a) 182
7

b) 172
12

c) 189
17

d) 178
21

50
0

90
0

N
90

0

1234567
1234567
1234567
1234567
1234567
1234567

O N

M
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61. A girl weighs 56.74 kg. If her mother is 1.5 times heavier than her daughter, then the weight of the mother is .............kg.
ALXÝ æ$K÷ç¾ç_Ý» CLX 56.74 ×Eõ.GÐç.* ̂ ×V Töçc÷O» ]çEõ» CLX Töçc÷OTöêEõ 1.5 mS å[ý×$K÷ c÷Ì^ åTöãÜ™ö ]çEõ» CLX c÷[ý ............. ×Eõ.GÐç.
å]ãÌ̂ Ì[ý CLX 56.74 ×Eõ.GÐç.* ̂ ×V ]çãÌ̂ »Ì[ý CLX å]ãÌ̂ »Ì[ý Jôç+ãTö 1.5 mX å[ý`Ý c÷Ì̂  Töçc÷ã_ ]çãÌ̂ Ì[ý CLX :
a) 85 b) 85.11 c) 85.20 d) 85.15

62. Time taken by the car while travelling 81 Km. at 10m/sec is .........
AFX GçQÍöÝ 10 ×]/æ$K÷ å[ýãGã» G×Tö Eõ×»ã_ 81 ×Eõ.×]. VÉ»±¼ö %×TöyÔ] Eõã»çãTö a]Ì^ _ç×G[ý :
AEõ×ÌOô GçQÍöÝ 10 ×]/åa G×TöãTö åGã_ 81 ×Eõ ×] VÉÌ[ý±¼ö %×TöyÔ] Eõ×Ì[ýåTö a]Ì̂  _çGã[ý  :
a) 2 hrs 20 min b) 2 hrs c) 2 hrs 30 min d) 2 hrs 15 min

2 H³RôOç 20 ×]×X$RôO 2 H³RôOç 2 H³RôOç 30 ×]×X$$RôO 2 H³RôOç 15 ×]×X$RôO

63. The product of 25
14

 and additive inverse of -7
5

 is
25
14

 %ç»Ó -7
5

 » å^çGç±ÁEõ %ãXçSîEõ» å^çGZõ_ c÷[ý :
25
14

 A[ýe -7
5

 AÌ[ý å^çGç±ÁEõ %ãXîç~ãEõÌ[ý å^çGZõ_ c÷ã[ý :

a) 125
98

                   b)   -125
98

                 c)      5
2

                  d)  None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

64. If a, b & c are the lengths of sides of a triangle ABC then which of the following is true ?
^×V ABC ×Åy\ÉöL» [ýç§» éVHïî a, b, %ç»Ó c c÷Ì^ åTöãÜ™ö Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
^×V ABC ×Åy\ÇöãLÌ[ý [ýç§Ì[ý éV»»Hïî a, b, %çÌ[ý c c÷Ì̂ , Töçc÷ã_ XÝäJôÌ[ý åEõçX×Oô £ˆù :
a) a + b < c b) a - b > c c) a + b > c d) a - b ≤ c

65. The L.C.M. of two numbers is ‘p’ and their H.C.F. is ‘q’. Their product is ‘r’. Then the statement which is true from the following is :
VÇ$RôOç aeFîç» _façfmf ‘p’ %ç»Ó Gfaçfmf ‘q’ c÷Ocg÷Tö» YÇ»SZõ_ “r” c÷ã_ Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
VÇ×Oô aeFîçÌ[ý _façfmf ‘p’ Gfaçfmf ‘q’ %çÌ[ý CãVÌ[ý mXZõ_ “r” c÷ã_ XÝäJôÌ[ý åEõçX×Oô aTöî ?

a) P
q  = r b) p +q = r c) p -q = r d) pq = r

66. 8888 + 7777 + 666 + ? = 19000
a) 2719                 b)    2679                c)    0            d)   None of these A$RôOçC Xc÷Ì̂  / AEõ×OôC Xç

67. If (-1)n + (1)n = 0 then n is :
^×V (-1)n + (1)n = 0 c÷Ì^, åTöãÜ™ö ‘n’ :
^×V (-1)n + (1)n = 0 c÷Ì̂ , Töçc÷ã_ ‘n’ :
a) An odd number b) An even number c) Neither even nor odd d) None of these

A$RôOç % Ç̂G½ aeFîç A$RôOç Ç̂G½ aeFîç Ç̂G½ %U[ýç % Ç̂G½ Xc÷Ì̂ A$RôOçC Xc÷Ì̂
AEõ×Oô % Ç̂G½ aeFîç AEõ×Oô ̂ ÇG½ aeFîç Ç̂G½ %U[ýç % Ç̂G½ XÌ̂ AEõOôçC XÌ̂

68. Find the product of the largest and the smallest number of the following 98, -13, 49, 1
98, -13, 49, 1 aeFîç åEõc÷O$RôOç» %ç$RôOçc÷OTöêEõ QöçIø» %ç»Ó %ç$RôOçc÷OTöêEõ a»Ó aeFîç» YÇ»SZõ_ c÷[ý :
98, -13, 49, 1 A+ aeFîçmã_çÌ[ý ]ãWýî a[ýJôç+ãTö [ýQÍö %çÌ[ý a[ýJôç+ãTö æK÷çOô aeFîç¥ãÌ̂ Ì[ý mXZõ_ c÷ã[ý- :
a) -13 b) -1274 c) 0 d) 98
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69. The triangle ABC represents a/an :
ABC ×Åy\ÉöLä$RôOç éc÷ä$K÷ :
ABC ×Åy\ÇöL×Oô c÷_ :

a) equilateral triangle b) scalene triangnle c) isosceles triangle d) None of these
a][ýç§ ×Åy\ÉöL ×[ýb][ýç§ ×Åy\ÉöL a]×ˆù[ýç§ ×Åy\ÉöL A$RôOçC Xc÷Ì̂
a][ýç§ ×Åy\ÉöL ×[ýb][ýç§ ×Åy\ÉöL a]×ˆù[ýç§ ×Åy\ÉöL åEõçX$RôOçc÷O XÌ̂

70. Which of the following best represents the location of point A on the number line shown below ?
Tö_» åEõçXä$RôOçã¾ aeFîç å»FçTö A ×[ý³VÇ» ØšöçXçeEõ a×PöEõ \öçã[ý ×XWýïç»S Eõã» ?
aeFîç ã»Ì[ýFçÌ̂  A ×[ý³VÇÌ[ý ØšöçXçeEõ a×PöEõ\öçã[ý ×XWýïç»X EõåÌ[ý XÝäJôÌ[ý åEõçX×Oô ?

0 1 2-2 -1
A

a) -2E b) -2D c) -1A d) -1D

71. The simple interest on a certain sum for 3 years at 14% per annum is Rs. 235.20. The sum is Rs. ...........
14% a»_ aÇTöTö åEõçãXç ×X×VÛrô ]É_WýX» ×Tö×X[ý$K÷»» aÇTö 325.20 $RôOEõç c÷ã_ ]É_WýX» Y×»]çX c÷[ý ...................... $RôOEõç
14% aÌ[ý_ aÇãV åEõçãXç ×X×VÛrô ]É_WýãXÌ[ ×TöX [ýK÷åÌ[ýÌ[ý aÇV 325.20 OôçEõç c÷ã_ ]É_WýãXÌ[ Y×Ì[ý]çX .................. ÌOôçEõç
a) 480 b) 560 c) 650 720

72. The smallest 5 digit number having three different digits is .............
×Tö×X$RôOç ×\ö~ %eEõã» ×_×F[ý Y»ç %ç$RôOçc÷OTöêEõ a»Ó 5 $RôOç %eEõ ×[ý×`rô aeFîçä$RôOç ......................
×TöXOôç ×\ö~ %eãEõ ×_×FãTö YçÌ[ýç 5 %eãEõÌ[ý a[ýJôç+ãTö æK÷çOô aeFîç :
a) 10000 b) 10001 c) 10002 d) 12311

73. Difference between the face values of 5 and 9 in 1, 65, 234 and 8, 42,  928 is ..........
1, 65, 234 %ç»Ó 8, 42, 928 Tö 5 %ç»Ó 9 » açe×FîEõ ]çX» YçUïEõî c÷[ý ........
1, 65, 234 A[ýe 8, 42, 928 A 5 %çÌ[ý 9 AÌ[ý açe×FîEõ ]çãXÌ[ý YçUïEõî c÷_--
a) 4 b) 14 c) 4100 d) 5900

74. If X & Y are whole numbers, then which of the following is true ?
^×V X %ç»Ó Y %F‰ø aeFîç c÷Ì^ åTöãÜ™ö Tö_» åEõçXä$RôOç QöO×Nþ aTöî ?
^×V X %çÌ[ý Y %F‰ø aeFîç c÷Ì̂  Töçc÷ã_ XÝäJôÌ[ý åEõçX =×Nþ×Oô aTöî :
a) X ÷ Y is a whole number  b)   X ÷ Y = Y÷ X c) Both a & b c) None of these

X ÷ Y A$RôOç %F‰ø aeFîç   X ÷ Y = Y÷ X ‘a’ %ç»Ó ‘b’ QöO\öãÌ̂ A$RôOçC Xc÷Ì̂
X ÷ Y AEõ×Oô %F‰ø aeFîç   X ÷ Y = Y÷ X ‘a’ %çÌ[ý ‘b’ =\öãÌ̂ + ÌåEõçXOôç+ XÌ̂

75. A rectangle whose width is 3 unit has the same area as a square whose side is 9 unit. What is the perimeter
of this rectangle ?
A$RôOç %çÌ̂ Töãlùy» YÒØšö 3 AEõEõ %ç»Ó c÷OÌ^ç» Eõç×_ 9 AEõEõ [ýç§ ×[ý×`rô [ýGïãlùy A$RôOç» Eõç×_» a]çX* %çÌ^Töãlùyä$RôOç» Y×»aÝ]ç ×Eõ]çX ?
3 AEõEõ YÒãØšöÌ[ý AEõ×Oô %çÌ̂ TöãlùäyÌ[ý Eõç×_ 9 AEõEõ [ýç§ ×[ý×`rô AEõ×Oô [ýGïãlùäyÌ[ý a]çX* %çÌ̂ TöãlùäyÌ[ý Y×Ì[ôaÝ]ç EõTö ?

a) 81 b) 60 c) 36 d) 27

B C

A

60
0

60
0
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General Science / açWýç»S ×[ýpûçX / açWýçÌ[ýX ×[ýpûçX

76. Which of the following gases is poisonous ?
Tö_» åEõçXä$RôOç åG$K÷ ×[ýbçNþ ?
XÝäJôÌ[ý åEõçX Gîça×Oô ×[ýbçNþ ?
a) carbon dioxide b) carbon monoxide c) sulphur dioxide d) All of the above

Eõç[ýïX Qöçc÷O %jçc÷OQö Eõç[ýïX ]X’%jçc÷OQö $Jôç_Zõç» Qöçc÷O %jçc÷OQö %ç$RôOçc÷OãEõc÷O$RôOç
Eõç[ýïX Qöçc÷O %jçc÷OQö Eõç[ýïX ]ãXç%jç+Qö aç_ZõçÌ[ý Qöç+%jç+Qö a[ýEõÌ̂ Oôç

77. Hardest substance in our body is :
%ç]ç» `»Ý»» %ç$RôOçc÷OTöêEõ Eõ×PöX [ýØ™Çöä$RôOç éc÷ä$K÷ :
%ç]çÌ[ý ̀ Ì[ýÝå»Ì[ýÌ[ý a[ýJôç+ãTö Eõ×PöX [ýºwø c÷_ :
a) nail b) bone c) enamel d) cartilage

XF c÷çQÍö AXçã]_ QöOYç×Øšö
XF c÷çQÍö AXçã]_ åEõç]_ç×Øšö

78. From ‘life cycle’ point of view the most important part of a plant is :
LÝ¾X $JôyÔ» ×V`» Y»ç QöO×àöV» %ç$RôOçc÷OTöêEõ V»Eõç»Ý %eGä$RôOç éc÷ä$K :
LÝ[ýX JôãyÔÌ[ý VÊ×rôãEõçX åUãEõ =×àöãVÌ[ a[ýJôç+ãTö mÌÌ[ý»Ó±¼öYÉXï %e` c÷_ :
a) root b) stem c) leaf d) flower

×`Yç Eõç‰ø YçTö ZÇõ_
]É_ Eõç‰ø YçTöç ZÇõ_

79. Which of the following vegetable is actually a fruit ?
Tö_» åEõçXä$RôOç ̀ çEõ-Yç$Jô×_ YÒEÊõTöãTö Zõ_ ?
XÝäJôÌ[ý åEõçX a‹Ý %çaã_ AEõ YÒEõçÌ[ý Zõ_ ?
a) potato b) lettuce c) bean d) cabbage

%ç_Ç Yçã_e ]çc÷ [ýμùçEõ×[ý
%ç_Ç Yç_e aÝ] [ýgçWýçEõ×Y

80. Find the incorrect match ?
%×]_ä$RôOç [ýç×$Jô QöO×_C¾ç ?
%×]_ =wøÌ[ý×Oô å[ýäK÷ XçC-
a) china rose - simple leaf b) cucurbita - reticulate venation

L[ýçZÇõ_-a»_ Yy _çQöO-Lç_×`»ç×[ýXîça
L[ýçZÇõ_-aÌ[ý_ Yy _ç=-Lç_× Ì̀[ýç×[ýXîça

c) bamboo - compound leaf d) palm - parallel venation
[ýgçc÷-å^ì×GEõ Yy Töç_-a]çÜ™ö»ç_ ×`»ç×[ýXîça
[ýçg̀ -å^ì×GEõ Yy Töç_GçK÷-a]çÜ™öÌ[ýç_ × Ì̀[ýç×[ýXîça
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81. In which state of matter, the molecules are at a greater distance from one another ?
YVçUï» åEõçXä$RôOç %¾ØšöçTö %XÇã[ýç»» ]çL» VÇ»±¼ö %×WýEõ c÷Ì^ ?
YVçãUïÌ[ý åEõçX %[ýØšöçãTö %XÇmã_çÌ[ý ]ãWýî VÉÌ[ý±¼ö %×WýEõ c÷Ì̂  ?
a) solid b) gas c) liquid d) All the state of matter

Eõ×PöX åG$K÷ Tö»_ YVçUï» aEõã_ç %¾ØšöçãTö
Eõ×PöX Gîça TöÌ[ý_ YVçãUï»Ì[ý aEõ_ %[ýØšöçãTö

82. Which of the following element is a non-metal ?
Tö_» åEõçXä$RôOç å]ì_ %WýçTÇö ?
XÝäJôÌ[ý åEõçX å]ì_×Oô WýçTÇö XÌ̂  ?
a) copper b) mercury c) aluminium d) sulphur

EõYç» Yç»ç A_Ç×]×XÌ̂ ç] $K÷ç_Zõç»
Töç]ç YçÌ[ýV A_Ç×]×XÌ̂ ç] aç_ZõçÌ[ý

83. The element that does not form compound is :
å^ìG GPöX Eõ×»[ý åXç¾ç»ç å]ì_ä$RôOç éc÷ä$K÷ :
å^ìG GPöX EõÌÌ[ýãTö Xç YçÌ[ýç å]ì_×Oô c÷_ :
a) hydrogen b) oxygen c) nitrogen d) neon

c÷çc÷OQÎöãLX %×jãLX Xçc÷O®ÏôãLX ×XÌ^X

84. A stapler is a lever of which kind ?
ærôY_ç» åEõçX æ`ÒSÝ» ×_\öç» ?
ærôY_çÌ[ý  åEõçX æ Ò̀XÝ»Ì[ý ×_\öçÌ[ý ?
a) i  order b) ii  order c) iii  order d) iv  order

YÒU] æ Ò̀SÝ» ×¥TöÝÌ̂  æ Ò̀SÝ» TÊöTöÝÌ̂  æ Ò̀SÝ» $JôTÇöUï æ Ò̀SÝ»
YÒU] æ Ò̀SÝÌ[ý ×¥TöÝÌ̂  æ Ò̀SÝÌ[ý TÊöTöÝÌ̂  æ Ò̀SÝÌ[ý JôTÇöUï æ Ò̀SÝÌ[ý

85. Which of the following occurrences is responsible for the twinkling of lights that are far away from us ?
VÉ»» %çEõç`» Tö»çã[ýçã» ×Tö»×[ý»çc÷O UEõç» Eõç»S éc÷ä$K÷ :
VÉã»Ì[ýÌ[ý %çEõçã Ì̀[ý TöçÌ[ýçm×_ ×MõEõ×]Eõ EõÌ[ýçÌ[ý EõçÌ[ýX c÷_ :
a) refraction b) movement of air c) reflection d) None of the above

YÒ×Töa»S [ýçÌ̂ Ç» a‡ûç_X YÒ×TöZõ_X A$RôOçC Xc÷Ì̂
YÒ×TöaÌ[ýX [ýçÌ̂ ÇÌ[ý a‡ûç_X YÒ×TöZõ_X AEõOôçC XÌ̂

86. When we go deeper into the earth, What happened to the temperature and pressure ?
\ÉöG\öÛê_ Gã_ QöObÕTöç %ç»Ó $JôçY» ×Eõ Y×»[ýTöÛX c÷Ì^ ?
\ÉöGã\öÛ ×\öTöÌ[ý =bÕTöç %çÌ[ý JôçãYÌ[ý ×Eõ Y×Ì[ý[ýTöÛX _lùî EõÌ[ýç ̂ çÌ̂  :
a) Temperature increases, pressure decreases b) Temperature decreases, pressure increases

QöObÕTöç [ýçä$RÍô, $JôçY Eõã] QöObÕTöç Eõã], $JôçY [ýçä$RÍô
QöObÕTöç [ýçäQÍö, $JôçY Eõã] QöObÕTöç Eõã], $JôçY [ýçäQÍö

c) Temperature increases, pressure increases d) Temperature decreases, pressure decreases
QöObÕTöç [ýçä$RÍô, $JôçY [ýçä$RÍô QöObÕTöç Eõã], $JôçY Eõã]
QöObÕTöç [ýçä$QÍö, $JôçY [ýçäQÍö QöObÕTöç Eõã], $JôçY Eõã]
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87. Which of the following can be categorized as protective foods ?
Tö_» åEõçXä$RôOç \öçG YÒ×Töã»çWýEõ FçVî ?
XÝäJô»Ì[ý åEõçX GÐÓãYÌ[ý FçVî aÇÌ[ýlùçVçÌ̂ Eõ :
a) Fats, vitamins & minerals b) Carbohydrates, vitamins & fats

$Jô×[ýï, ×\ö$RôOç×]X %ç»Ó F×XL _¾X `Eïõ»ç, ×\ö$RôOç×]X %ç»Ó $Jô×[ýï
Jô×[ýï, ×\öOôç×]X %çÌ[ý F×XL _[ýX `EïõÌ[ýç, ×\öOôç×]X %çÌ[ý Jô×[ýï

c) Minerals, fats & carbohydrates d) Vitamins, minerals & proteins
F×XL _¾X, $$Jô×[ýï %ç»Ó YÒ×$RôOS ×\ö$RôOç×]X, F×XL _¾X %ç»Ó YÒ×$RôOS
F×XL _[ýX, Jô×[ýï %çÌ[ý æYÒç×OôX ×\öOôç×]X, F×XL _[ýX %çÌ[ý æYÒç×OôX

88. Green revolution means :
åaQöOL ×[ýYÀ¾ ]çãX :
a[ýÇL ×[ýYÀ[ý c÷_ :
a) planting more trees b) deforestation

%×WýEõ [ýÊlù å»çYS ×X[ýïXçXÝEõ»S
%×WýEõ [ýÊlù åÌ[ýçYX ×X[ýïXÝEõÌ[ýS

c) increasing food production d) none of the above
FçVî» QöOdYçVX [ýÊ×ˆù Eõ»ç A$RôOçC Xc÷Ì̂
FçãVîÌ[ý =dYçVX [ýÊ×ˆù EõÌ[ýç åEõçXOôç+ XÌ̂

89. Which of the following is not a unit of pressure ?
Tö_» åEõçXä$RôOç $JôçY» AEõEõ Xc÷Ì^ :
XÝäJôÌ[ý åEõçX×Oô JôçãYÌ[ý AEõEõ XÌ̂  :
a) Pascal b) Nm-2 c) Kg wt m-2 d) Kg2 m-2

Yç$$JôãEõ_ ×XQöO$RôOX ×] -2 ×Eõ.GÐç. CLX ×] -2 ×Eõ.GÐç2 ×] -2

YçaãEõ_ ×XQöO$RôOX ×] -2 ×Eõ.GÐç. CLX ×] -2 ×Eõ.GÐç2 ×] -2

90. The organ most affected due to air pollution by smoke and poisonous gases is :
åWýgç¾ç %ç»Ó ×[ýbçNþ åG$K÷» Y»ç åc÷ç¾ç [ýçÌ^Ç YÒVÉbS» [ýçã[ý åEõçXä$RôOç %eG å[ý×$K÷ lù×TöGÐØšö c÷Ì^ :
åWýgçÌ̂ ç %çÌ[ý ×[ýbçNþ Gîça åUãEõ c÷CÌ̂ ç [ýçÌ̂ Ç YÒVÉbãSÌ[ý LXî ̀ Ì[ýÝãÌ[ýÌ[ý åEõçX %eG a[ýJôç+ãTö å[ý`Ý lù×TöGÐØ™ö c÷Ì̂  :
a) heart b) ear c) stomach d) lung

c÷ÖV^Ü—ö EõçX YçEõØšö_Ý c÷çCgZõçCg
c÷ÖV×Y‰ø EõçX YçEõØšö_Ý ZÇõaZÇõa

91. Which of the following tissue is usually functionless in aquatic plants ?
Tö_» åEõçXä$RôOç Eõ_ç L_L QöO×àöV» ålùyTö ×X×›˜õÌ^ :
XÝäJôÌ[ý åEõçX Eõ_ç L_L =×àöãVÌ[ý ålùäy ×X×›˜õÌ̂  :
a) Aerenchyma b) Xylem c) Collenchyma d) sclerenchyma

Aã»XEõçc÷O]ç Lçc÷Oã_] Eõã_XEõçc÷O]ç æ À̀ã»SEõçc÷O]ç
AãÌ[ýXEõç+]ç Lç+ã_] Eõã_XEõç+]ç æ À̀ãÌ[ýSEõç+]ç
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92. ................. is done to separate the lighter components in the top layer
CY»» Ø™ö»» YçTö_ QöOYçVçX å[ýç» ..................... » ¥ç»ç YÊUEõ Eõ»ç c÷Ì^*
=YãÌ [ýÌ[ý Ø™öãÌ[ýÌ[ý YçTö_ç =YçVçXmã_ç ..................... ¥çÌ[ýç YÊUEõ EõÌ[ýç c÷Ì̂ *
a) sedimentation b) decantation c) evaporation d) condensation

%¾ãlùYX %çØƒöç¾X [ýç¹YÝ\ö¾X HSÝ\ÉöTö Eõ»S
%[ýãlùYX %çØƒöç[ýX [ýç¹YÝ\ö[ýX HSÝ\ÉöTö EõÌ[ýS

93. Breathing is a physical process and respiration is a ................. process
`Ÿça YÒ`Ÿça éc÷ä$K÷ å\öì×TöEõ YÒ×yÔÌ^ç %ç»Ó ̀ ŸaX éc÷ã$K÷ ..................... YÒ×yÔÌ^ç
Ÿ̀ça YÒ̀ Ÿça c÷_ å\öì×TöEõ YÒ×yÔÌ̂ ç %çÌ[ý Ÿ̀aX c÷_ .................. YÒ×yÔÌ̂ ç

a) Biochemical b) Natural d) Supernatural d) Chemical
éL¾ »çaçÌ̂ ×XEõ YÒçEÊõ×TöEõ %×Tö YÒçEÊõTö »çaçÌ̂ ×XEõ
éL[ý Ì[ýçaçÌ^×XEõ YÒçEÊõ×TöEõ %×Tö YÒçEÊõTö Ì[ýçaçÌ^×XEõ

94. The stalk of the flower is called ...
ZÇõ_» Pöç×»Qöç_ éc÷ä$K  :
ZÇõã_Ì[ý [ýÊÜ™ö c÷_ :
a) corolla b) calyx c) stamen d) None of above

Yç×c÷ [ýÊ×Tö YÇeV‰ø CY»» A$RôOçC Xc÷Ì̂
V_]‰ø_ [ýÊ×Tö YÇeV‰ø AEõOôçC XÌ̂

95. Example of composite flower is :
å^ì×GEõ ZÇõ_» QöOVçc÷»S éc÷ä$K÷ :
å^ì×GEõ ZÇõã_Ì[ý =Vçc÷Ì[ýS c÷_ :
a) Lotus b) Rose d) Marigold d) China Rose

YVÇ] åGç_çY XçLÝÛ L[ýç
Y²¿ åGç_çY GgçVçZÇõ_ L[ýç

96. Which of the following can not be called as a matter ?
Tö_» åEõçXä$RôOç YVçUï Xc÷Ì^ :
XÝäJôÌ[ý åEõçX×Oô YVçUï XÌ̂   :
a) Gases b) solutions c) Energy d) weight

åG$K÷ VÐ¾X `×Nþ CLX
Gîça ÌVÐç[ýX `×Nþ CLX

97. Which of the following changes when we heat a gas ?
TöçY YÒãÌ̂ çG Eõ×»ã_ åG$K÷» ×Eõ Y×»¾TöÛX c÷Ì^ ?
TöçY YÒãÌ̂ çG Eõ×Ì[ýã_ GîçãaÌ[ý ×Eõ Y×Ì[ý[ýTöÛX c÷Ì̂  ?
a) mass b) volume c) density d) Both b & c

\ö» %çÌ^TöX HX±¼ö b %ç»Ó c QöO\öãÌ^
\öÌ[ý %çÌ^TöX HX±¼ö b A[ýe c VÇ×Oô+
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98. Which of the following was important in making life possible on earth ?
YÊ×U¾ÝTö LÝ¾» %×Ø™ö±¼ö aÞö¾ éc÷×$K÷_ :
YÊ×U[ýÝãTö YÒçãXÌ[ý %×Ø™ö±¼ö aÞö[ý c÷Ì̂  :
a) The distance of the earth from the sun b) The gravitational pull of the earth

YÊ×U¾Ý %ç»Ó aÉ̂ ïî» VÉ»±¼ö» [ýçã[ý YÊ×U¾Ý» ]çWýîEõbïSõ`×Nþ» [ýçã[ý
YÊ×U[ýÝ C aÉã ï̂îÌ[ý VÉÌ[ýå±¼öÌ[ LXî YÊ×U[ýÝÌ[ý ]çWýîçEõbïX ̀ ×NþÌ[ý LXî

c) The period of rotation of earth d) All of the above
YÊ×U¾Ý» %ç×c÷ÔEõ G×Tö» [ýçã[ý %ç$RôOçc÷OãEõc÷O$RôOç
YÊ×U[ýÝÌ[ý %ç×c÷ÔEõ G×TöÌ[ý LXî a[ýEõÌ̂ ×Oô

99. ............... is a mixture of water droplets, air dust.
.............. éc÷ä$K÷ YçXÝ» Eõ×SEõç, [ýçÌ^Ç %ç»Ó WýÇ×_EõSç» ×]`ÒS
.............. c÷_ Lã_Ì[ý Eõ×SEõç, [ýçÌ̂ Ç %çÌ[ý WýÉ×_EõXçÌ[ý ×] Ò̀X
a) ice b) soil c) water d) cloud

[ý»Zõ ]ç×$RôO YçXÝ Qöç¾»
[ýÌ[ýZõ ]ç×Oô L_ å]H

100.When we say that the cheetah is the fastest among living things, we are talking about its :
×$JôTöç [ýçH éc÷ä$K÷ %ç$RôOçc÷OTöêEõ VÐTöã[ýGÝ YÒçSÝ, Töç» ]çãX %ç×] Töç» .................. » ×[ýbãÌ^ éEõä$K÷ç*
×JôTöç [ýçH ^×V a[ýJôç+ãTö VÐÓTöGç]Ý YÒçXÝ c÷Ì̂ , Töçc÷ã_ TöçÌ[ý ×EõãaÌ[ý EõUç [ý_ç c÷ãÌ̂ äK÷ ?
a) velocity b) acceleration c) energy d) force

å[ýG ±¼ö»S `×Nþ [ý_
å[ýG ±¼öÌ[ýS `×Nþ [ý_

************
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